Math 3100

Section 2.1 and 2.2 

Practice with Sets

Matching 

There is a one-to one correspondence with the left and right hand column entries (

A. A well-defined collection of objects

B. The members of a given set

C. A set in which all the elements can be listed

D. A set in which all the elements cannot be listed

E. A set that contains no elements

F. Sets that contain the same elements

G. If every element of set X is an element of set Y, the X is a ______ of Y.

H. If sets P and H have no elements in common, they are _______.

I. The larger set of which all sets under discussion are a subset.

J. The set containing all the members of given sets

K. The set containing all the members that are common to given sets

L. All elements of the universal set that are not contained in a set N form a set called the _________ of N.

_______1. Subset

_______2. Intersection

_______3. Disjoint

_______4. Set

_______5. Complement

_______6. Elements

_______7. Equal Sets

_______8. Infinite Set

_______9. Union

______10. Empty Set

______11. Finite Set

______12. Universal Set

Application

Let’s say our universal set is a box that contains 

three red balls numbered 1, 2, 3 

five green balls numbered 4, 5, 6, 7, 8 

and two purple balls numbered 9, 10.

1. If A is the set of odd numbered balls and B is the set of green balls, describe the following

a. The intersection of A and B

b. The union of A and B

c. The complement of the union of A and B

2. From the universal set, create 2 disjoint sets. Then create 3 disjoint sets.

3. Can you define 2 sets whose union contains 3 elements?

4. Can you define 3 sets whose intersection contains 1 element?

5. Write your own question for your group to answer… try to be a little tricky (
